Lundi 6 avril
Tu effectues ces opérations , tu fais la preuve et tu écris le résultat en lettres.
35 752 + 1 326 + 12 = 35 752 - 1 326=
35 752 x 6 = 35 752 x 63 =

Mardi 7 avril
Tu effectues ces opérations , tu fais la preuve et tu écris le résultat en lettres.
478 302 + 121 + 3 125 = 478 302 - 121 =
3125 x 7 = 3 125 x 74 =

Corrections
35 752 + 1 326 + 12 = 37 090 35 752 - 1 326 = 34 426
37 090 : trente-sept-mille-quatre-vingt-dix

34 426 : trente-quatre-mile-quatre-cent-vingt-six

35 752 x 6 = 214 512 5 752 x 63 = 362 376
214 512 . deux-cent-quatorze-mille-cing-cent-douze

362 373 : trois-cent-soixante-deux-mille-trois-cent-soixante-seize

478 302 + 121 + 3 125 = 481 548 478 302 - 121 = 478 181
481 548 . quatre-cent-quatre-vingt-un-mille-cing-cent-quarante-huit.

478 181 : quatre-cent-soixante-dix-huit-mille-cent-quatre-vingt-un

3 125 x 7 = 21 875 3 125 x 74 = 231 250
21 875 : vingt-et-un-mille-huit-cent-soixante-quinze

231 250 : deux-cent-trente-et-un-mille-deux-cent-cinquante






